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412 [~ A R OZEDILE Y 11 158 52 15 46 282
413 [MEKT Z VTR 1.6 1.6
414 MK~ A R 0.042 0.0002 0.042
415 [ AZTVIVEE 210 3.2 213
416 | AZTYNEE2 — =F N ~FL v
417 | AFZVIVER2, 3—TiRFL 7L
418 [ AZIVNVEE2 — (PAFNTI)) =F )L 0.12 0.083 0.20
419 [ AX V)V N~V —T F )L
420 [ AZVVNVEEATF IV 3,956 887 23 4,865
421 [4A—AFVF o AF®H —2—F
422 [TV B/ 558 558
423 AFATI 0.002 0.002 0.004
424 AFN=AVF AT F—h 10,140 10,140
425 AV TaWNT
426 (VR TT
427 [FUL 1,145 710 1,855
428 [T )T HINT 728 722 1,450
429 [/~\pRLTay ATV 88 88
430 [ A RFFHLT 2.5 2.5
431 [T/ ¥ L ARRE S 2,170 2,170
432 [7INTX 300 300
433 [ 1—/3 4 2,000 2,000
434 [A¥HYIV 34 34
435 [EVI /Ry AF)L 132 132
436 | TNT 7 —AFNAF L
437 |3—AFNF AT —)L
438 AFNFTHLL 22 3,033 2.2 0.24 3,058
439 [3—AF ALYV
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442 | AFo=)L 100 100
443 | AV 3,564 3,564
444 [N 7afx v AkrE 125 125
445 | JLYF T BAT IV 815 815
446 |4, 4’ —AFLL VT =)
447 AFLUER(4, 1—Y7un~ngdily) =y

AT F—h
448 f%v/l:xm, 1—Tz=Ly) =V 110 0.31 110
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449 [T AT 4T 7
450 |[EVTFHLT 306 306
451 |2—ARFL —5—AF LT =V
452 |2— AV HT RS F T —)L 4.0 4.0
453 BT T ROZEDLEY 13 729 6.3 748
454 |2— (BNKRY ) OFA) S F T —) 0.53 0.53
455 |[FEIHRI 31 59 90
456 WAALT AVI=T 4 55 55
457 [V 7a)LIRA 2,875 2,875
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